Polyurethane Pull

UUF susvmos

==z

Lf

LR =Elnlby

BN

oYz
FNERERILS
(RUIBY—ER)

mE

UUF-25-112
UUF-25-128
UUF-25-160
UUF-25-192
UUF-35-160
UUF-35-192
UUF-35-300

*1: ADFTHEATIHFEEETT,

UUF-25

TPU(B8)

BE>37 A65+5
SUS303

SUSXM7

M Lf H
M6 10 50
M6 10 54
M6 10 54
M6 10 54
M8 12 68
M8 12 68
M8 12 68

™ IU—Vkig - JU—ViRa

HRAT

N NBK SMENATvIRH

0 RoHS
UUF-35
TPU(B8)
BE>3a” A65+5
FPIVEZOLESE
SUSXM7
h A L
34 25 128
38 25 144
38 25 176
38 25 208
43 35 185
43 35 217
43 35 325

0575-23-1162

N

L1

12
128
160
192
160
192
300

-

MAN&MACHINE
ELEMENTS

o ERHDLFETPUTI—FT1VT,

® BNIFEE, ZUTREMLEEMEZEK, FICTPETLLIP
Do EZEHIEW>F T,

o FHERNEMBHNRICTNTVET . EREOEHOFTlE
BONBUVERTT,

® RSEMATRERE : 70C

o A Y3V TR DITRADNATUTERILES (SUSXM7 &)
Z2RMBLET . QUABY—EXR (BIFE) #ZFIRL

L

B mm
10 1000 136 M6X12
10 1000 151 M6x12
10 1000 174 M6X12
10 1000 227 M6X12
17 1000 328 M8x12
17 1000 370 M8X12
17 1000 513 M8X12

o REIETFE M@ - MPIENBK YT THA MBI RET W,

UUF-25-112

UUF-25-112-P
\ .
RUAE

H—E'X
RUABY—ER (BIEE) ZZFHADEER. BRIBBOXRREC-P] =&
LTS,

4 L—5ZIEn
AT

info@nbk1560.com https://www.nbk1560.com



